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10km a1 — 2 — B F D 692 613 88.53%
10kma— 2 —JERF D& 246 206 83.74%

m s D 958 839 °l §7.58%
10km o — 2 [EA N E S T DR 17 17 100.00%
10km 3 — X EA WELF D 3 3 100.00%
2kmE 41— 227 0f 17 12 70.59%

mEL FT O 18 13 °F 72.20%
12kmE o d 0 — 2 LT O 1 1 100.00%
6km o — 2B T IR 98 85 86.73%
Bkm o — 2 — DE 63 61 96.83%

m BEFOH 179 162 1 90.50%
6kma—REAVWEBFDIP 13 11 84.62%
6kma —REAVWELZFDI 5 5 100.00%
IO aAlkma—2 e 491 160 93.69%
To U lkma—2 Rk 470 433 92.13%

>~ 2 A 4km LS 1022 947 °l 92.66%
T2 U= A 4kma— ARH VY 33 33 86.84%
T aA4kma—REA WA 23 21 91.30%
10kmA — 7> 12 12 100.00%
12kmA — 7> 0 0 0.00%
mA—7 34 34 °l 100.00%
bkmA — 7> 7 7 100.00%
AkmA — 7> 15 15 100.00%
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